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EXPANDING BRACKETS

NEGATIVE BRACKETS

Ref: (i22(u.2 S 1

Al Expand: A2 Expand: A3 Expand: A4 Expand:
={x+T) =(=x~=3) =3(x—4) —4(=x~T7)

B1 Expand: B2 Expand: B3 Expand: B4 Expand:
3(2x~3) —=H2x~95) 5(3x+y-4) =5(=3x+y—-4)

C1 Expand: C2 Expand: C3 Expand: C4 Expand:
4(5x-2) —4(-5x+2) x(6-y) -x(6-y)

D1 Expand: D2 Expand: D3 Expand: D4 Expand:
Sx+2(x+4) Sx—~2(x+4) 4x—-3(x—3) 4-3(x-5)

E1 Expand: E2 Expand: E3 Expand: E4 Expand:
11x-3(3x-35) 8x—4(7-3x) 9x —x(x+5) 9x —x(x—35)
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4(5x-2) =20x—8

—4(=5x+2) =20x—-8

x(6-y) =6x—-Xxy

Al Expand: A2 Expand: A3 Expand: A4 Expand:
—(x+7) ==x=7 —(—x-5) =x+5 -3(x—-4) =-3x+12 —4(—x—=7) =Hx+28
B1 Expand: B2 Expand: B3 Expand: B4 Expand:
3(2x-5) =6x-15 -3(2x-5) =-6x+15 5(3x+y-4) =5(=3x+y—-4)
=-16x+5y —20 =15x-5y +20
C1 Expand: C2 Expand: C3 Expand: C4 Expand:

—-x(6—y)=-6x+Xy

D1 Expand: D2 Expand: D3 Expand: D4 Expand:
5x+2(x+4) =5x+2x+8 5x—2(x+4) =5x—-2x-8 4x-3(x-5)=Hx-3x+15 4-3(x-5)=4-3x+15
=7x+8 =3x-8 =Xx+15 =19-3x
E1 Expand: E2 Expand: E3 Expand: E4 Expand:
11x-3(3x-5)=11x-9x+15 8x—4(7-3x) =8x—-28+12x 9x —x(x+5) =9x—x*-5x 9x —x(x—5)=9x — x> +5x
=2x+15 =20x-28 =Ux - x* = 1Hx - x*
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